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N.B. Proper procedure and explanation necessary for Q.2 t0 Q. 6

Q.1 A]

1)

2)

3)

4)

S)

6)

7)

8)

9

10)

Choose the correct alternative and write it against the
sub-question number.

The G.C.D. of any three prime numbers is
A)0 B)1 )2 D)3
The product of any two distinct odd numbers is

A) an even number B) an odd number
C) asquare number D) a prime number

The digit at unit’s place in the product 4x44x444x---x4444444 has
to be

AS B) 4 )6 D)2
The number of common divisors of any two consecutive numbers

A0 B) 1 )2 D) 4
A segment joining any two points of a circle not containing centre
1s a of the circle.

A) chord  B) diameter C) radius D) circumference

45 24 111 27

of the fractions — ,—, — .— are equivalent to =
—————— 75°40 ° 185 45

A)Onlyone B)Onlytwo C)Onlythree D) All four

A Roman number XXIX is written in international numerals as

A) 19 B) 29 C) 39 D) 31
The G.C.Dof46and 115is
A)230  B)II5 C) 46 D) 23

If all sides of a quadrilateral are equal, it is called a
A) rectangle B) rhombus C) square D) kite

At the most significant 3-digit numbers can be formed

using the digits 5, 0 and 6 only once.
A) three B) four C) five D) six

(10)




Q.1 B]
1)
2)

3)
4)

5)

Q.2
1)

2)

3)

4)

S)

Q.3

)

2)

3)
4)

S)

Write only answers of the following sub-questions.

Find and write the value of 26% of 350.

The length and the breadth of a rectangle are 11 decimeter and 7

decimeter respectively. Find and write its area.

17 . :
Convert 50 into decimal form.

Write the reciprocal of g , What is the product of that reciprocal and g ?

Simplify : 19—6 - §°

Solve the following sub-questions.

In a constituency, 2,25,000 out of 2,70,000 voters voted in an
election. Find and write the percentage of voters who did not vote.

Hari worked in a company for 441 days. If he earned Rs.1000 per
week, how much did he earn?

Measures of some angles are given below. Classify them as acute,
obtuse and right angles.

(1)73° (2)18° (3)118°  (4)58° (5)90° (6) 125°

Use all digits 0,2,4,6,8 and write the largest and the smallest 5-digit
numbers. Find and write the difference between them.

Carry out the division : 9.407 +~ 0.023

Solve the following sub-questions.
Last year the population of a village was 2500. It increased this

year by10%.What is the population at present?

If the selling price of an article is 15 times its cost price,

what is the profit percentage?
Factorize: 133100
Simplify: 508.43 — (368.58 — 6.7)

In the number 5**9, the digits at the places of stars are equal.
The difference between the place values of those digits is 360.
Find the digits and write that number.

(10)

(15)

(15)




Q.4

Q.5

Y
2)
3)

4)
5)

1)

2)

3)

4

5)

Solve the following sub-questions.
Find and write the G.C.D. of 1818, 1800 and 3636.
Simplify: (8.33 —2.08) + (1.47 +1.03)

Observe the adjoinng figure and answer the following questions.
In the adjacent figure,

a pentagon and two of its

diagonals are drawn.

1) In how many parts is the pentagon separated?

11) What 1s the shape of each part?

111) What is the sum of the measures of all angles of a triangle?

1v) What is the sum of the measures of all angles of the pentagon?

Find the prime factors of 63504.

On a day 45 students out of 60 were present in division V-A and
14 students out of 56 were absent in division V-B. Compare the
percentage of presence of students in the two divisions.

Solve the following sub-questions.

Construct a rectangle ABCD such that /(AB) =4.5 cm and
[(BC)=6cm. Draw its diagonal AC. Measure and write its length.

A bat and a ball together cost Rs. 1100. The cost of a bat is
Rs.1000 more than the cost of a ball. Find and write the total cost of
two bats and four balls.

The side of a square is 15cm. The perimeter of a regular hexagon is
equal to that of the square. Find and write the length of side of the
hexagon.

Simplify: 9990 x -2 + 888 x —
999 888

Seven boys collected rose flowers as follows:

One of them collected 36, another two of the remaining collected
29 each; another two of the remaining collected 23 each; and the
remaining collected 14 each. Then all flowers were distributed
equally among them. How many flowers did each of them get?

(20)

(20)




Q.6

1)

2)

Solve the following sub-questions.

The product of two numbers is 1980. One of them is the product of
the two numbers, which are 1-digit and 2-digit smallest primes.
Find the original two numbers. Also find and write their L.C.M.

Neeta borrowed Rs.1,50,000 from a rural co-operative bank.
Ganesh borrowed Rs. 2,50,000 from an urban co-operative bank.
They repaid the amounts of Rs.1,80,000 and Rs.3,10,000 to the
respective banks after two years. Find and write, which bank
charged higher rate of interest and by how much?

363638

(10)
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STOT Heged Tuf 5 MLP. Contest
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Instructions :

R
1. Wit Rrameet mied garer swerm W Fill in every information asked for.
. Attempt all questions.
Write explanation in the blank space below
3. TS WG Sreciedl ST Qe foral. each question.
4. oo FEEE 2% SaTEet foeht s Ay, | 4 Use the blank space provided below each
& N e et ; (:Il;lestions foi iough w?;rk.th i :
o i ; e ; you want to rewrite the solution of a
: question cancelling the original, write it on
FHIHE e the last blank page.
qut A1
(eTreeTa) (F1a) (7 )
ST 719
Full Name
[IN CAPITALS) (Surname) (Name) (Middle Name)
Name of School
e 9% % e AerETE T
Seat Number Invigilators Signature
Y. AR 1 2 3 4 5 6 T 8 9 10 1laf
™
W, AT ool I B R BT S TR T
o




a) YU Tqrehen e @ | ‘ | E(B
(1000 + 5 + 50 + 5000) + (1000 + 500 + 50 + 5)
Find the value of the following expression.
(1000 + 5 + 50 + 5000) + (1000 + 500 + 50 + 5)

b) Téiw HEm Hferhdia 1001 Ff T s, 12, 23, 34, 45, 56, .
Find the 1001** term in the series 12, 23, 34, 45, 56, ....




b)

45%.ﬂmmwm,aafaﬂa‘r ST Farfa T THTe TS T, (S S S 3 36
Fl T HEA T T, I A G A TR, 3. 1551, 23932 3.)

Find the smallest and the largest 5 digit palendromic number divisible by 45.
(A number which reads the same when its digits are reversed, is called
palendromic. e.g. 1551, 23932 etc.)

iR ST HERT 93 TH AR, A 49 FoE) Y, 38 Bi-w W, 15 Hew
WW@—@@%WWM.WWWWE@-@%Q%I@E
Wadm ?

In Sanmitra Kreeda Mandal, there are 93 members. Of them, 49 play Kabaddi,

38 play Kho-Kho. 15 members play games other than Kabaddi and Kho-Kho.
How many members play both, Kabaddi and Kho-Kho?

—-——-———.——————.———-—-——-——-—-—————-—-————u—————-——-——-————

Rough Work /&= wm




/Q.s a) 401@#@1@#&1%%%@.@%;@3@@@%%;

Decide and explain whether 401 is 4 Prime number or not,

ST TR v, S !

As shown in the adjacent figure, OABCD, OPQRrs B g
and ODCEF are rectangles of the same measures.
If the peremeter of each rectangle is 28, find the perimeter of the whole figure.

—_———-—-—.——.—-—-——_——-—.-—.-—n—-—--————-—-————-——-—.————_—_———-——-—-—-—_-—

Rough Work /#= sm



Q4 a) Ty GEMIREE x SR y a1 e P R ?
- 1,1,2,6,% 1200 -

Find the numbers x and y in the following sequence
1,1,2,6,x,120,y

b) 2,3, 5 A w T w0 R SEe 1 T 60 v e wem e

How many numbers from 1 to 60 have at least one of the divisors 2, 3 and 5

T T T T T T T S S S S D i i S S e —— — —— — — — — — — ——————— —— —

Rough Work /&= #m




Q5  KED® i o7 wea =2, K. E, D 2 5573w 1 sreay a7 o, GB &1 KED =1 37599 oTR. 5
WG,B2 MWaﬁmmm,mmDaﬁGBWWmﬁm%a

KED is a three digit number. K. E and D are consecutive digits in ascéndjng order.
GB is a factor of KED. If digits in GB are also consecutive and ascending, find all
possible pairs of and GB.

Q6 e TS mmmmmwwmmomﬁm@ 5

+1278¢ o e dEE 309 100122 A,

+95635  Replace seven digits in the numbers in the adjacent example by

zeroes, so that the sum of the resulting numbers is 100122
Q7 St/If

[6}6"5:15

2 x1

6|_6x5x4 _

3] 3x2x1 _

Find value of the product

HRH

_—-——--——-——-——-———————-—-—-——-—-———-———————-——-——.-—..——-——-

Rough Work /== =m




A A, APQR 75 m/Q = 900, AP =
AQ, m/R =200 W PR ars[= =tisht Fer. QA =4
T,

In the adjacent figure, in APQR, mZQ =909,

R AP =AQ, m4R = 200, QA = 4 ¢cm Find the
~ length of PR.

Q9 I YUTleTa STHVITA U Sqrrare R 26 TR, P RS S Hraere SRar=aT i 5
HW 178 SR, T 1 A A el MR 7 ; -

The perimeter of a rectangle, with integral sides, is 26. The sum of the areas of squares
drawn on all sides of the rectangle is 178. Find the area of the rectangle. :

Rough Work /= =m




11 uoaamaqmmmmaamm.

Write the number 1105 as a sum of two squares in all possible ways.

mmﬁehtﬁmrdlgltsinthe product of numbers from 1 to 15?
13. mmmmmma Eduse[ b
T 9§ [ER O w4 : S R
- Complete the multiplication sum given below by —
filling in proper digits in the squares. 8ol JinfH
' +
Ll il £
T [ [
Lu mmmmmmmmmmmwm%m
TS e,
Area of a rectangle is 600. Sides of the rectangle are integers. Find the sides of such
rectangle with minimum perimter.

—._—-——--—_——--—_—-—-—.—--——-——--——-—-—-——_

Rough Work /7= wm

11




Q15 ascammmm.ammaacmmmmmw.m,_
wi?ﬁawassaﬁ,mmaa‘ﬁmm. :

aSc is a three digit number. If places of the d1g1ts a and c are intercha.nged, the
difference between the two numbers is 396. find all possible such number,

A four digit number consists of four consecutive digits, not necessarily in order. The
sum of the digits is 10. None of them is zero. The number is divisible by three prime

numbers less than 20. Find the number.

-—_—-—-—--——__——-———--—-——.——-——-—-l——.—-_——-—--——-——-—--——-

Rough Work /= #m
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Pune Jilha Ganit Adhyapak Mandal, Brihanmumbai Ganit Adhyapak Mandal and
Ganit Adhyayan Adhyapan Vikasan Sanstha, Nashik

GANIT PRABHUTWA EXAMINATION

Date : 09-12-2018 : Std -V - Total Marks : 100
Time : 12 noon to 3 p.m.

N.B. For Q. No. 2 to 7 proper procedure and explanation is necessary.

L]

Q. 1 A) Fill in the blanks with proper answers and rewrite the statements in 10
your answer paper.

1) The difference between the place values of the digits 9 and 2 in the
number 49527 is ......... .

2) There were 16 rows of boys for mass drill each having equal number of
boys. The middle boy in each row was fifteenth. So .......... boys were
participating in the drill.

3) In the product 4 x 44 x ......... 44,44,444, the digit in the units place will
be. i

4) The number twice of ‘IX’ is written as .......... in Roman numerals.
2 . :

5) S of a rupee is ........... paise.

6) Total number of days from 5" Feb 2016 to 5™ March 2016 s ..........

7) Yash’s school starts at 9.00 a.m. and gets over at 15:30 hours. So Yash
is in the school for .......... hours. '

8) A train requires 8 hours te cover a distance of 408 km. Therefore the
speed of the train is ......... km/h. |

9) Amount of X 100 in 1 year is T 105. Therefore the amount after 2 years
of the same principal will be ¥ ........

10) 0.64 is written as .............. as a common fraction.

B) Write only answers. | | 10
1) Write 1838 in Roman Numerals.

2) 7019.6 —835.44 =7
3) Find the priﬁe of 1 kg 800 gr. onions at the rate of ¥ 12 per kg.
4) The cost of 15 litres milk is T 510. How much would 4 litres milk cost?

5) A farmer borrowed ¥ 1500 at 8 p.c.p.a. and returned ¥ 1860. Find for
how many years he was using the money?

1 (P.T.0.)



Q.2) Solve the following.

15
a) Write the difference between the number 5834 and the number obtained
by reversing its digits.
b) Divide 81324 by 16 and write the answer in the form
Dividend = Divisor x Quotient + Remainder
c) Write 8745 as a product of prime factors.
d) Ifitis Tuesday on 26™ January, on which date is the first Wednesday of
the same month? .
¢) A salesman got a commission of ¥:9900 for selling goods worth ¥
90,000. Find the percentage of commission he got.
Q. 3) Solve the following. _ 15
a) Hari worked in a company for 441 days. If he earned ¥ 100 per week,
how much amount did he get at the end of work?
b) A quire of paper sheets costs ¥ 18. Find the cost of 15 paper sheets. (24
paper sheets = 1 quire.)
¢) 8 men can complete a work in 27 days. How many days will be required
to complete the same work if the number of men is made one and half
times?
d) The number 5% *9 consists of the same digits in the places of *. The
difference between the place values of those digits is 360. Find the digit.
e) Simplify. 216 —(24 - 6) +2 x (53— 14 — 6)
Q.4) Solve the following. 20

a) Find the G.C.D. and L.C.M. of 65 and 90.
2 2 2
b) Simplify: 6 — + 6— + 6=
Ry

¢) There are 2 cans of milk containing ?1—1? and 15% litre of milk

respectively. If this milk is packed in a bag of 750 ml. each, how many
bags will be required?

d) A train running at a speed of 90 km/h. passes 25 poles per minute. Find
the distance between two consecutive poles.



¢) A company sold some machines for ¥ 20,000. Cost price of machines
was < 18000. If each machine was sold for T 800, then

(1) How many machines were purchased?
(2) What was the cost price of each machine?

(3) What was the total profit?

Q.5) Solve: 20
a) Draw a triangle ABC such that
{AB) =6 cm; {BC) =5 cm; {(AC) =7 cm. Measure B and write it.

e 1160 m.
B‘ﬁm" : S
_3.’5]}},_
""""""" 200 m

c) Selling price of an article is one and half times of its cost price. If the
cost price of the article is ¥ 360, what is its selling price? Find the
percentage of profit.

d) Simplify

=S gt 1 L
18~ 14 15 65 78

€) A scooter consumed 2.6 litres petrol to cover a distance of 115.7 km.
How much distance did it cover per litre?

Q. 6) Solve the following. 10

a) Draw a circle of radius 2.5 cm. Draw its biggest chord: Name it as AB.
Take any point M on the circle. Join AM and MB and measure ~AMB
and write it.

b) The side of a square is 20 cm. If it is increased by 10%, what will be the
increase in the area and perimeter of the new square?
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Tford wyea ¥quf 5 ML.P. Contest

Time : 12 to 2.00 Date : 25-2-2018 Maximum Mark : 100

AT . Instructions :

1. TRt faRaret aifach gar=a 3faRE W, 1. Fill in every information asked for.
2. ¥d WeT HIEdT, . Attempt all questions.

| -

()

IR geTRaTeh Arededr ST Od, e 3. Write the answer with explanation in
| | the space below each question.
E 4. Use the space provided on each page

4. o=l PTHTHICN L gl ST for rough work.

1NN, 5. If you want to rewrite the solution of a
5. TEE WA fofeedl SR ® FOA ™ question cancelling the original, write it

IR M fomraam R R O dac=Ed on the last blank page mentioning the

HIGT GHTER T HLATT hHThag feTar. question number.
UGS

(3rTE=Ta) (FTar) (Ferer )
\ TS AT
Full Name :
(IN CAPITALS) (Surname) (Name) (Middle Name)
Name of School :
geT 355 . SRCEEg IR SIERY
Seat Number Invigilator’s Signature
\ HeA oI | 1 2 3 4 5 6 7 8 9 1w 11 | 12 | 13

i |
Hed wHIG | 14 35 116 | 47 | k8 19 20 QepuT 0T

T




= T AT S ST AT 400 ST TS SR S AT T a1t A,

ser 400 is divided by a number, the remainder is one. Find all such numbers.

e wiem Jeft e enun B war Fea 7 el srrar o Sk 7 7

= = o S 8 Aesfdet srgar AuraT SRS 8 7 quf 9T ST,

—digit smallest number, such that if we add 7 to it, the sum is divisible by 7 and 6
% o it. the sum is divisible by 8.




mlmﬂa XF 55 IR @ AHMAL 11 IR, W M FAowm A fF
S=gial SISl T

ﬁﬁme between two numbers is 55 and their G.C.D. is 11. Find the greatest pair of 6
=5 ﬁ’ee digits numbers.

= RFww o Gem 17 3 I TR 4 fofer dear R ser 529 o,
f . SR RIS ST A 3 PeodT HA I B, aR ot et weem o

1al multiplied a given number by 17 and added 4 to the product, the answer was 6

_ %8 was incorrect. The correct answer contained the same digits but in different
d the given number.




= =5 Sode s 699 13 o, o SEde R e S e
ﬂmﬁmmmwmwﬁa adg AT oI 3ihI
=i Tpor S fore.

i the digits of a three digit number is 13. All the digits of the number are different
§ odd. Write the smallest and the greatest number of them. Also write the total number

—

ST TR x =35°, y = 42°, z = 28° 3T O} w ot fhua e
Dening figure if x = 35°, y = 42° 7z = 28°. find the value of w. 6




TJ@Fﬂamﬁawﬁzﬁaﬁﬁhﬂ#mﬁémﬁﬁmﬁwm@aﬁaaﬁw
U] AXET HR1. Ufeedn dF dipMidie Sl T 1 e, guedl dF dieHdia
el S8t 2 s 7 StaeeaT A depiidter WReaH a9 3 I,

7) In the figure given below. two out of five cells are filled. Insert the numbers in the second, 6

third and fourth cells such that sum of the numbers in the first three cells is 1. sum of the
numbers in the middle three cells is 2. and sum of the numbers in the last three cells 1s e

1 2 3 4 £

1 1

5 3
) 9+ 99 + 999 + ..+ 999999999 IT XY 9 A WNTel AT JUIMTAT HANHRIG 0T 9 Uehl
HIOTAT 37 JUTR ATEl ? |

3 If the 51:}!‘[1 9+ 90 9% ... + 999999999 is divided by nine, which of the digits of 6
0 to 9 will not appear in the quotient?




9) Considering that /S&Td &1 hI, 3° =3 x 3 %3, =4xq4x4

observe the following relations. / 3for Wiefter FieofR fAdterr o1

2 ; 2
13+23+33=8} x (3 + 1)% = 36; 13+2-‘+33+43=GJ x (4 + 1)? =100

2
13+23+33+43+53=[§) RS+ 1 =225

Hence find the value of 1° +2° + 3% + ____+ 403

Also find the value of 21° + 22° + 23% + .. + 40°
R P +22+32+ L +40° = ey 213 + 223 + 233 + .+ 40° 4t fobaa emrem 9 foraT

10) ﬁm,wmmmmwmmmmmwﬂ@

10)

g ST SaNT g gieaie ggpor v 22 2t qToT, g SO SINY T Sreaiet wepor
WRn 23 gt w,m@mmmwa%@mmmaﬁmm,
m@mﬁmm@mmz?w; R w4 P vgo et ot 2t g
TP TR faelt oYt gt

Four types of grain bags were brought for sale. The total number of bags containing Rice,
Wheat and Jawar was 22: the total number of bags containing Bajra, Wheat and Jawar
was 23; the total number of bags containing Bajra, Rice and Jawar was 24 and the total

number of bags containing Bajra, Rice and Wheat was 27. Find the total number of bags
and find the number of bags of each type of grain.




11)@@%3@3@1%?@%&53@@%5%@%@1‘%&@?&
TRIRETTIHTY FIRF=IT HIST TR PRI Tifaer. TR Arddliel TIRATIST SO
aTea O TR S 2. A e 166 AR e R IRAR aTReiedl AU
FreidT e e g ? .

11) In a competition. Arnav and Arati were given total 500 matchsticks to form chains of 7

squares as shown in the figure. Arnav made two more squares than Arati. Together they
made 166 squares. How many matchsticks did Arati use?”

12) TohT BRI ANRICT Foassiadt 72 dlHl. &9%hes aclell A-FcIPdl dI%hl TR
FRITET Mg, AT AHIEA] Wlettel 3Mddtd SRAASITIATT TPl faxaesrdar |iT
AT MR, Ieviel faRassear HAT= SAfdl ST /el 3Tciter HATAT oATsll g DIuam qival
o 3 gepd 2 . g 1 H IR AR o, G TRt d15] Quliehla 3led. YUl
Hqd HFT SFHS HHIA HHI IAVAIATS! FaAredl dIedTd] el g ol faeal 3rqrel d 2T,

12) A housing society wants to make a rectangular flower bed of 72 sq. m. Also a rectangular 8
grass bed around the flower bed, as shown in the adjacent figure, is also to be made. The
length and the breadth of the outer bed has to be more by 2 m and 1 m respectively on
both sides than those of the mner bed. Sides of the flower bed are integers. Find the
length and breadth of the flower bed so that the area of the total land used is minimum.

(rass bed
Flower bed




|

mmmﬁwmﬁawzw

13) wep diF 3 Tl 2117 o efaran A
mmmﬂﬁﬁ"ﬁq—cﬁﬁm. 3191 Fd

AR, 1 S 9aD 7TfOT Uepeh AT
13) The difference between a thre
digits is 297. What are the possib

number of all such numbers.

mber obtained after reversing its 8

e digit number and the nu
lace and units place? Write the

le digits at hundreds p

4 ‘

14) HEreflel emfﬁ?ﬁ?r adeintd, feeear ot quf gditer e A 20, 63, 64, 30, 125, 120,

L 216,91 G feran

" 14) Insert the numbers 20, 63, 64, 30. 125, 120, 216 in the appropriate circles fulfilling the 8

given condition.

A 9T ST AT

OIS T ST ST The numbers divisible by three

The number divisible by Five
TRA TR SO e

The numbers divisible by four.



15)ﬁm3ﬁaﬁﬁ4oﬁﬁmﬁ@wm3sﬁﬁﬁ@fﬁm.m?ﬁ?ﬁrﬁm
MBI 48 O el St R 43 Y Rige Afgen s, SR Tl SAissid 32 JM
amﬁﬁmﬁa?ﬁﬂﬁ@@?ﬁ?ﬂ%ﬁm.wwaamﬂaﬁﬁﬁm@?ﬁﬁ
ot TR ST SR ATBT T AT ARSI AT AT AT SRS I
oSt et I BRI AN AT o QL.

15) If I plant 40 saplings in a row, 35 saplings are left. If I plant 48 saplings in a row, 43 8
saplings are left and if I plant 32 saplings in a row 27/ saplings are left. Find the minimum
number of saplings 1 have. Also find the maximum number of rows I can make so that
each row contains maximum number of saplings.

——_—_—_—-ﬁ_—_—q—l—l_—__—-—-————I————..—————————d-r_———_#——1

8
~  Rough Work /&= &1H

=15




Pune Jilha Ganit Adhyapak Mandal, Brihanmumbai Ganit Adhyapak Mandal and
Ganit Adhyayan Adhyapan Vikasan Sanstha, Nashik

GANIT PRABHUTWA EXAMINATION

Date : 10-12-2017 Std-V Total Marks : 100
Time : 3 Hours

N.B. For Q. No. 2 to 7 proper procedure and explanation is necessary.

Q. 1 A) Fill in the blanks with proper words and rewrite the statements in 10
your answer paper.

1) If the G.C.D. of two numbers is one, then their L.C.M. is equal to ...........
2) Roman number CCLX can be expressed using international numerals as

----------

3) The sum of two odd numbers is always .................. number.
4) If the diameter of a circle is 16 cm then the length of its longest chord is

..........

TSR 199 508 —..................

8) If the lengths of all sides of a triangle are different then the triangle is a
........ triangle.

9) If the diagonals of a quadrilateral are not congruent but perpendicular
bisectors of each other then the quadrilateral is a ...................

10) ——51:1

B) Write only answers. 10
1) What is the perimeter of a square whose area is 25 sq.mm ?

2) How many hectoliter equal 89000 deciliter ? |

3) Megha got 246 marks out of 300. What is the percentage of her marks?

4) Convert the fraction 15? into improper fraction.

5) Write all the divisors of 54.

i (P.T.0.)



Q. 2) Solve the following.
1) If four dozen mangoes costs Rs. 2200, then find the cost of 18 mangoes.
2) Simplify and write the answer in Roman numerals : [XII + II]
3) Write the five digit smallest even number using digits 9,5,7,0,2 ; each
only once.

4) Convert into recurring decimal fraction : %

5) Write in words : 39,43,52,105.

Q.3) Solve the following.
1) Simplify 10.967 + 95.44 — 68.51
2) Out of 42,000 glass jars; 2 % jars were broken in transportation. How
many jars were broken ?

3) Find the equivalent fraction of g having numerator 20.

4) Find the L.C.M. of 200, 225, 150.

Q.4) Solve the following.

1) How much period is required to fetch an interest of Rs. 1800 at 8 p-c.p.a.
on a principal of Rs. 50007

2) Vijay types 45 words/min. How much time will he require to type 15
pages if there are 27 lines in each page and 14 words in each line ?

3) Using instruments in a compass box, draw a square of 4 cm side. In the
exterior part of the square, draw a rectangle of 6 cm length and a side of
the square as its breadth. Find the area of the rectangle formed by the
two rectangles together.

Q.5) Solve the following.

1) How much time should be subtracted from 15 hrs 18 min. 13 sec. to get
2 hrs. 22 min. 35 sec. ? 4 |

2) Simplify : (8.33 —2.08) + (1.47 + 1.03)

3) Aminabhai bought a heap of guavas from wholesale market. She sold
%th of them on the same day, and 7?6_ th on the following day and found
that 39 guavas were yet to be sold. How many guavas had she bought ?

<Ph



Q.6) Solve the following.

'1) 100 note-books and 140 books are to be distributed among students, in
such a way that each gets the same number of note-books and the same
number of books. Find, to how many maximum students can these be
distributed ?

2) Shankarrao kept a deposit of Rs. 10,000 in a credit society. How much
amount will he receive after 3 years at 11 p.c.p-a ?

£.94

10

4) The population of a city is 17,89,957. Out of which 5,97,321 are men
and 6,42,448 are women. Find the number of children.

5) Draw a circle of radius 3.5 cm. Draw a chord AB and diameter AC of
the circle. Draw seg BC. Write the type of the triangle ABC.

5 : 17
3) Simplify 1;§x2

Q.7) Solve the following.

1) The printed price of a machine was Rs. 4,50,000. The shop—keeper sold
it at 8% discount. Find the price the customer paid for the machine.
Though the shop—keeper had given discount, he gained 25% profit.
What was the cost price of the machine for the shopkeeper ?

2) Thelengthandthebreadthofarectangulargarden is 1.6 km and 0.9 km
respectively. A square shape garden is of the same area as that of the
rectangular garden. Find the perimeter of the square shape garden in
meters.

3) Draw a rhombus PQRS: /(QR) = 5.5 cm, mZQ = 70°. Draw diagonal
QS. Measure ZPQS and ZRQS and write the measures.

4) Which digits should replace the symbols * and # in the six-digit number
534*4#, so that the number is divisible by 720 ?

5) When a number is divided by 36, the quotient and the remainder are 797
and 8 respectively. If the same number is divided by 72, what will be the
quotient and the remainder ?

15
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Q.i 729 1 T TE FIISTRTE UTRR 39 1 WETd fAfen ® o <t fa Fe. 4

If the product of all divisors of 729 is written in the form of 32, find value of a. ’

— — — —— — — — — — — — ——— — — — — — — — — — — — — — — — — — —— —— — ———— tp— w— oot vt e s e s

Rough Work /= %™



Q2  xy(x—y)= 45045ﬁmwmxmymﬁqﬁammmm?wmﬁ 4
TR T .
Do there exist natural numbers x, y such that xy (x—y) =45045? J ustlfy your answer.

e | —— e | ——— — — — — — — — — —— — — — — — — — — — — — — — — — S—— to— o— — — — oo sz ommoins

Rough Work /= &m



Q.3 =1, 2=2x1, 3=8xX2x 1, 4d=4x3 x2x 1,

SRN=U+201+81+41+........ 15! & N & qof srfeen 41 ® graan. -
'=1,21=2x%x1, 3'=3%x2x%x1 4'=4x3%x2x1,
IfEN=1'+21+3'+41+ .......... 15, show that N is not a perfect square.

Rough Work /&= %™



Q4 quaﬁ?ﬁﬁawﬁwwmso%wwwwmw mq—dﬁ?ﬁwaeﬁ%m

FACAT IFAT I A U hrel.

A cylinder is melted and a cone is prepared such that the diameter of the cone is 80%

of the diameter of the cylinder. Find the ratio of the height of the cylinder and the '
height of the cone.

— i — — — — — — —— — — — — — — — — — — — — — — — — — — —— — — t— — t— — — — — — — t— —

Rough Work /&= =m

4



Q.5 AABC @1 e i [ (BC) = 6 a#t. wewm BE = g CF = 5.5 31, 5
Construct AABC such that ! (BC) = 6cm, median BE = median CF = 5.5 cm.

— — — — G e G S e — — — —— — — — — — — — — —— — — — — — — — — — — — — — — — — — —

Rough Work /#=1 %™



Q.6 TEE AT TR B AT IRUHS FUITEIS! FHTe TR I FrEmedt. 60 TRt ST ey, war 4
T AN, e J&8 TUed = 2/3 9 aH §e AFTe. e ot B A foswmft 40 ffae
I DEefl. SR Ets war 90 ferft STat eumer avren v, @i dt B A faamft 20 fafie sefa
g ST, AR T T Yo e o feadt gran?

A car left a city A towards city B at a certain average speed. After covering a distance
of 60 km, due to bad road conditions, it had to travel at 2/3 of its original speed.
Hence it reached city B 40 minutes late. Had the car met bad road conditions after °
covering 90 km, it would have reached city B 20 minutes late. What was the initial
average speed of the car?

e — — — — — — — — S — —— — — — — — — — — — — — — — — — — — — — — — — — — — — oo S

Rough Work /&= &m



Q.7  FEM 50 IguA SR o wlan fieht. fom v v dieaw €. e whda st s 3 o 4
firesm giq anfor gehean SaeETdt 1 77 St SR . ferrera foren fresreiean Tomfis 120
T BId. A WIed, O Arevara et w9 el o o ff weuned). fae weum sl g
$ = § TR fora.
Neha appeared for an examination and attempted all of the 50 multiple choice :
questions. Each correct answer was to gain 3 marks while each wrong answer would
lose 1 mark. The result card showed that she secured 120 marks. She immediately

said “the marks entered are wrong.”
State, with reasons, whether Neha’s conclusion was right or wrong.

Rough Work /&= &m



Q.S- x% — 3x + p M 222 + 5x + 3 A1 G Fdien ©w srae awrsw oM, @ p <t fhua Fre,

If the trinomials x2 — 3x + p and 2x2 + 5x + 8 have one factor in common, find value of
D.

Rough Work /&= %M



Q.9 T qed Sl G, ThATE TS TG SIToT SATHRUN hedtd, 3 a9t 50% 3 9Ted. Thi sab @ 5
Tgdta T G o TR 4 FutEret I y v 7 awtardl . Famgaaa:@ﬁaz;aﬂf:ﬁanﬁh
7 Uit T @ ST, T 2 SNy TehAT! TOITR T,

In a certain investment scheme, a certain sum at a certain rate of interest increases :
by 50% in three years when compounded annually. A person invested Rs x for 4
years and Rs y for 7 years in the scheme. He found that he received the same amounts
at the end of respective periods. Find the ratio of x and y.

Rough Work /&= %™



Q.10 IS IR Tk 18R Fre FHTES) It 311, ISR

M 1 _ 18571
HreaT 3T S AR fhua Fer. » el 14937
Each letter in the adjacent sum is used for different g - :
digit. Solve the sum and find the value of each letter. H+ 1

5

Rough Work /&= &m

10

5



Q.11 - awﬁai@PQn%@RsniéBcu;i@SDll%@QT | @ 5
AB 371fo1 3@ RT|| 7@ PD|| Y@ AC. T armiiciiet fepror=h,

P Q i i o et s e e, S
el 1<l TEAT Tl S 37T ?

R S In the adjoing figure, seg PQIll seg BC || seg RS;

seg SD|| seg QT Il seg AB and seg RT|| seg PD|| seg

AC. How many triangles, parallelograms and

B T D C trapeziums are there in the figure? Which of them

are maximum?

Rough Work /&= &m

11



Q.12 755 1 Gl NI T 9 T T AUTAT i I T IR 81 ? : 3

Write the number formed by the digit at tens place and at the units place of the
number 7°9.

Rough Work /#= sm

12



Q.13 a,b,c,dm'errw'w:m%a.a,bwﬁcﬁmdn@ﬁMRN‘aﬁmﬁzﬁ. b, ¢ 3IfT 6
d = Tl o 7R frasaell 19 & v . ¢, d i1 o = gt b & g feast @«

21 € F&1 4. d, o 207 b il wrd onfir ¢ Fieh 909 25 A9, W a, b, ¢ M d = R

F1al. :

a, b, ¢, d are numbers. The sum of d and the average of a, b, cis 37. The average of b,
cand d is added to a, we get 19. The average of ¢, d and a is added to b, we get 21. The
sum of ¢ and the average of d, @ and b is 25. Find a, b, c, d.

Rough Work /&= &m

13



Q.14 (CUT)2=TIGHT I1 3ee0TTa Sermiastt 378 aTatelt 31, wammmw AR, 6

(CUT)2=TIGHT. In this example letters are used for digits. The same letters denote
the same digits and different letters denote different digits. Find the value of each

letter and write the sum in digits.

T ——— e — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —— — — — o— t— —— oo

Rough Work /&= &M

14



Q15 GWWWW@AABCWWQETW@WW% Q IR AABC =11 6
T SISO @ ZThell, A o1 §d aiere sl s foheft ?

Q is any point in the interior of an equilateral AABC having side 6 cm. Perpendiculars
are drawn to each side of AABC from the point Q. Find the sum of lengths of all
perpendiculars.

Rough Work /&= &m

15



Q16 P S 9w gl [IPQRS & /a d [(PS) = 58w,
1 (PQ) = 48w =15 PS e T &1 37 forg viten i @ TR
¥ £QTS =1 guTSRh 8. '

In the adjacent figure, (LIPQRS is a reétangle. 1 (PS)=

: 5cm, | (PQ) = 4cm. Find the point T on the side PS such
Q R that segment TR is the bisector of LQTS.

Rough Work /&= =m

16



Q.17 TSRS 4P L 999 + 100°) 71 TR 4 3 TFTITER WK ST FaT. 6
Find the remainder when (12 + 25+ 3%+ 4%+ ... 999 + 1009) is divided by 4.

Rough Work /&= &m

17



Q18 < Serie ey oty ih A 592 ST FT B 518 R, R N A Ferh
9 296 S T T TE&IT T ?

The sum and difference of the LCM and GCD of two numbers is 592 and 518
respectively. If the sum of the two numbers is 296, find the numbers.

Rough Work /&= %™

18

6



Q.'19 IR AATATHRS 3R 8 W, 10 g, 100 Wl & 5 fRt arsft Hiewam w 9. @ ufvs fim 7
T AT FhT T AMICATREIT Taheh T $aR AT fomt @ e Teehroiaes STaaied

Tl Tt Fobma T FTedt. SR s A R 100 $99 SR @ SR Tl T fa
fomeft Bt ? :

Four merchants were close friends. One of them had 8 rubies, the other had 10
saphires, the third had 100 pearls and the fourth friend had 5 diamonds. Each of
them gave one gem to each of his friends. Hence the cost of the gems each one
possessed became equal. If the cost of a pearl was Rs. 100/-. what was the cost of
each ruby, saphire and diamond?

Rough Work /&= &m

19



Q.20 T wTeea g R TR, @i 10% forede g« daes ol e, @ e 7
10%ﬁmwmwmmﬁwm.mmmmﬁm-
frreta onfer qroft = s fedt o ? :

A bottle contains pure glycerin. 10% of it was taken out from the bottle and the same
volume of water was added to the bottle. Again 10% of the mixture was taken out
from the bottle and the same volume of water was added to the bottle. The same
procedure was repeated one more time. What was the ratio of remaining glycerin
and water in the bottle?

Rough Work /&= &™

20
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1) wieiel sl feledr ATfediase T JTgpra &5hed Hial.

1) From the information given in the figure, find its area. 4

—_—_—_—_“——___-—._—_——__—_u_.——._—————'—-_nn_———'

Rough Work /&% &H




2) udier il Hieqy x d y <A fopeit et | 4
2) Solve the following equations and find the values of x and y.

X +3xy=14 ; y+3yx*=13

#_-H——.———-———'——I-l--———_—__——--——_I——_I-I——I-l—___-—_-——_I

Rough Work /&=l &




) 27000001 ¥ X ETT AT | 4
3) Find prime factors of 27000001. 4

e

'-_:,__\_'-..- e —— — — e — ——— — — e S m— — —— s = == = i _— o . : I ~ l

 Roush Work/a 7
L ) - ks = A

‘i..\" -
=




4) @refd mgdd AB = AC, D-A-C, D-E-F, AD = AE @ &I DFC 9 |19 . 4
4) In the following figure AB = AC, D-A-C, D-E-F, AD = AE. Find m£DFC.
D

— — — — — E—— I E— E—— E— . e . S e e e " — — — — i — — —— — — | — | — — — — — — — (— — —

Rough Work /&= &1




5) 2 =1 G S Aier fbdar @@ie, 1 d 100 a1 QI FEHAl OMREN SHaud

5) What is the highest power of 2 which is a factor of the product of all integers from 1 to
100 ? 5




6) W=l Solve.

5
5 L St
3 x-z[x+ﬁ] % e ki 5

3 6

|
q
1

————__————-—-*———_—-————n_-—-———_—_—_—

Rough Work /&= &9

T — — — — —




L - A — i

?mymﬁ'WWWT%wmmmmmﬁ@W?%wmﬁ%
|:'- 4G 2

If the sum of two digits x and y is divisible by 7, prove that the number xyx is divisible
- 5

L




8) (?01{}01 +?2H]DUJ T EEIAT 71 = 9T A @1 2 -i’:l_?: _ )

8) Is (?Omm +72! ﬂﬂﬂ) divisible by 71 ? Justify your answer.

g

———_—_—_—_H_—.m.————_———————_——_——————————-——1

Rough Work /&% &




e —-.n-—-—-“_l'"".“‘— T— L

9) SR p & & W& 3ReT, m & Tafife T ™A A p(p+m) +p=(m+1); R pd
m T et ene. 5

9) If pisa prime number, m is a natural number and p (p + m) + p = (m + 1)’ then find the
values of p and m. 5




10)AABCEITHTGEWEFIT§°F&,!J,:31%.E?al+b2+c1=ab+bc+acﬁ?ﬁﬁWABCﬂﬁW

THRET I g o TIEhRUE fofar. 5
10)a, b, ¢ are the lengths of sides of A ABC such that a* + b2 + ¢ = ab + be + ac. What is the

type of the triangle ? Justify your answer. 5

_-——-——_H—_——“——_—_ﬂ_F—-__-#—_.-*_-——_———__——r

Rough Work /&= &4



11) SR x+l=3mx5+i5?ﬂﬁ1mﬁm. 6
X X

) IExrm= 3 fnd e valueof x5+i5. 6
X X

= S F{E"‘,""_"TI}';__‘ -
Rough Work /@% &9

-%1=




12) @reft fieoiear wRemear HiFddia x Iy T4 fhadt el
2,3, 11, 38, x, y, 443, 786

12) Find the values of x and y in the following sequence.
2,3,11,38,x,y, 443, 786

Rough Work /&= &1




13) [J ABCD & JHaid didiH 31e. 9191 AB | | 9151 CD, 151 AD = 915 BC,

m £ ACD =45°, [(BD) = 12 & 3B ABCD d &5%Hes BIal. 6
13) 0] ABCD is a trapezium, side AB | | side CD, side AD = side BC, m £ ACD = 45°,
[(BD) = 12. Find the area of the trapezium ABCD. 6

B T T T oy SV S R ————————

Rough Work /&= &5

i




—_-—“”*————_—_H-__“———————_—_—_”——————H_-_—I

Rough Work /&= @79

L




15) A ABC H& [ (AB) = 20, I (AC) = 21, [ (BC) = 29 3for B-D-E-C 3R / (BD) = 8,

| (EC)=9.dX @9 DAE © HIY Pral. T
15) In A ABC I(AB) =20, I(AC) =21, I(BC) =29 and B-D-E-C, I(BD) =8, (EC) = 9. Find
the measure of the angle DAE. i
C
E
D
o) B

— — e — e— E— E— E—— E— E— T e — — — — — — — — — — S e SE— D D S D S S S S S — — — ——

Rough Work /&% &1

S




16) AB 3O CD & FHIGR THAT ALAR, IFPH S 3o M A, |k anfor T Al W
am¥d. AC ofr BD ¥ TR T WRERT E HEd BN, R AE = 585 fepeft, aieR
EC = 105 frdft, oiqx BD = 9.76 fpdt; ok wiRean o Hewred oX Svardr HHIE
et FrcRTET JEf DO ? B P

16) AB and CD are parallel roads. S and M are homes of Sameer and Mahesh at the
midpoints of the roads. Straight roads AC and BD intersect each other at E.

If d(AE) = 5.85 km, d(EC) = 1.95 km, d(BD) = 9.76 km; then which is the shortest route
from Sameer's home to Mahesh's home ? Why ?

A
D
s+ M
S ¢ E
i
| B
i
T T T T T e e

=16 -




17) IR4-A=A-B=B-C=C-D=D-5, A:B:C:D Pl 8
17) f4-A=A-B=B-C=C-D=D-5,thenfind A:B:C:D. 8

Rough Work /&% &1

=

—————Hn__—_—_'____——_—_—_—qw—.__._*_—_—_——_—__.



.z AB o HAEd @9 3R

i Brssort W TR, A AB @l P,

18) In the following figure segment AB is a diameter of the
perpendicular to the diameter AB at H. The length of ABisat
number obtained by interchanging the digits is the length
length of the chord CD. Find the length of AB, if /(OH) is a atio

C
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1) SR3IMYU 1 +2+ 3+ . +n, I RAFIS S, & g IR o) @reilel Iiaomas k =t
fhaa arar.
S276 — Sa7s =k

1) If we use the symbol S, for1 +2+3 + ..., + n, then find the value of k in the equation.
S276 — S27s =k

2)@3&?@?@%%2@0%@&?@?%%. 140 AT 60 féag oy

meﬁwwa@mw@wﬁ.méméﬁawmw
forell =1URY HmTER Sart FnTier ?

2) A contractor undertook to build a road promising to complete it in 200 days. He employed 5

140 men. After 60 days, he found that only one fourth of the road was built. How many
more men should he employ to complete the work in time?




_immmeaﬁqﬁaﬁmﬁwﬁwﬁlﬁaawwnwmmmmqw
1 ScaH e aRfd e (STorEan oTielt RAfifes e oTTRd. )

3) If one side of a right angled triangle, other than its hypotenuse is 17 cm, find the perimeter 5
- of one of such right angled triangle. (Lengths of the sides are natural numbers)

Eh

PSR x+y+z=gamfr —L 41, 1 _5 oo arehe i e o

¥+ziz+x x+y Il

EE"—— = - Y e
e EZ X X+
B 1 1 1

== 5
" Hx+vy+z=28;and + - = then find the value of —— + 2 4 2
N Y4z  z¥+x x+y 11 ytz z+X X+y




Karan got 71 marks in his last examination. The average of marks in all examinations was S

F_ If he had gnF 99 marks in the last examination, his average would have been 87. Find
‘Bow many examinations Karan had given.

=S B I1 SF ol TRuT fasht i 975 5. amR. IR A & 5% diea onfd o= B &

e ST el aw A ® @RS T onfor avg B =1 66t fFag w9 e TR v
=TT See S1BEl I HIal.

8 selling price of two articles A and B is Rs. 975. Article A was sold at 5% loss. 6

B was sold at 25% gain. The cost price of A was equal to the selling price of article
wnd the profit percent in over-all transaction.

gl




- 7) There are five numbers. The H.CF. of any

numbers is 27720. What will be the product of all five numbers?

ST IO Y QF S AT AR, T HRAS Siepiel SSeraee PR T Holr
o Y fyesd. U auigdl afSeli™ 97 gemedr  easedr JuTed] gWe B, ) afser
=D 97 Plel. MR UGl FHIG HHI fhadl auiHl gr1 afderimar sarhie sich
S=oace hedd A e g Aede ?

ather’s present age is a two digit number. If the digits in the number of father’s present
are interchanged , we get present age of his son. One year ago father’s age was twice

£ son’s age then. Find their present ages. After how many minimum years again, digits in
er' s age if interchanged, would give his son’s age then?

7 ﬁémwmﬂﬂaﬁwﬂ@aqmqmﬁﬂaﬁmmwﬁmamﬁ

two of them is 4 and L.C M. of all the five




9) a, b, c IT IR<TT F&AT AT 31T BT a — 7b + 8c = 4 T 8a+4b—c=7, T a2 -—b2+c?
7 et fFaa weT

9) Ifl‘a_, bﬁ ¢ are real numbers such that a — 7b + 8c =4 and 8a + 4b — ¢ = 7, then find the value 7
a‘—b*+¢c?

10) STl A HEY 6 WHE AT 9T Srafdefl M. 3NPpdl B Ay T 6 ASET aied!
mieth SRafeh oM. aMHdt A ¥ &5 864 TIW. AR, W oM B mid e

i) 3G AB, ii) Y@ BC, iii) Y@ KD, iv) %@ KL

10) Six equal rectangles are arranged as shown in figure A. These rectangles are then 7

rearranged as shown in figure B. If the area of figure A is 864 cm?, then find the lengths
of the following segments in figure B.

1) seg. AB, 1ii)seg. BC, iii)seg. KD and iv) seg. LK

A B

Fig. A Fig. B D



11) aﬁaﬁm,a,wmﬁqmm@wm.mmawmﬁmra
mﬁ.aﬂaaaﬂﬁmmmﬁgﬂﬁﬁ?z:laﬂ%mwﬁamﬂamwmmﬁ
mﬁﬁaﬂmmﬁwmﬁéﬁmmmﬁamﬁamﬁﬁww@éﬁmﬁﬁ

11) Ameya puts some beads in three jars A, B. C. The ratio of the number of beads in jars A
and B is 2 : 3 and that of the number of beads in B and C is 2 : 1. If he transfers equal .
number of beads from jar B to jar A and to jar C, there will be equal number of beads in
jars A and B and the total number of beads in jar C will be 297. Find the total number of

beads in all three jars, he put initially.

12) Ydler 3l X1 AB || {87 CD 32, &g P, Q 37T R 8 @ AC, X1 CD 9 6T AB &
3™ 3T I AP = AR 31T PC = CQ. SR m<PQR = 65°. TR LPRQ ° HY HIal.
12) In the given figure, line AB is parallel to line CD. Points P, Q, R are taken on segment 7

AC, line CD and line AB respectively such that AR = AP and PC = CQ.
If m~PQR = 65°. find mAZPRQ.

A R B

- T,




13) IfEas TR Tefaed 50,000 %, ¥ sfé Rfwer. @ 9o Rar @4 aféRardier it wam

qi¥eT AIPRURATS! Aifiidell. SR I (2x+9)°X 2 =1. g FHiaxur guiunl g 37Es Asfde]
9= ot vEm Svar iftes 5T o Raren onff @y P, & Ram o aHdfilexo a4
Aefaet /e o Hisqd arEal.

13) Amit won a prize of Rs. 50000/- in a marathon. His sister Riya wanted to share half of 7

the prize for woman empowerment. He promised to give it if she gives the correct and

complete solution of the equation (2x +9)°X~2 _ 1 Riya got the half amount. Write the

solution which Riya must have given.

14) IATPcild SrEfECATHMY ThI Flbl ABCD ° $Uf AC I Huf BD WRERMI O focd
B, ¥ OA @R fig E o1 3@ &l LADE = £BDC, @R f4g &1, &
ADEC ~ AADB

14) OABCD is a cyclic quadrilateral. Diagonals AC and BD intersect at O. Point E lieson 7
seg OA such that ZADE = ZBDC. Show that ADEC ~ AADB.

{

A




15) waauqrw“‘fmm?ﬁaﬁr14ﬁrsﬂfraiaﬁé’r%ﬁwsﬁﬁﬂqaanﬁmwwgmﬂ

40 JH 91 3RTeeT TRATDT TR SHAEATAT 3(Rd, a% HHig freft wRem
ANTATS o PIaT.

I5) Breadth of a rectangular hall is 14 m. and its length is two and a half times the breadth. If 8
the hall is to be tiled by square tiles of side 40 cm, then fi
required.

nd the minimum number of tiles

6

1{3) Gl",“rﬂ_q_l:w."'__ﬁ-__ﬁ?ia - \ﬁﬁﬁﬁﬁm
d J

A
6

;
16) If a+ 43 J5 ; find the value of | a® -

d \ d
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T g4 ¥uf 5 MLP. Contest

Time : 12 to 2.00 Date : 25-2-2018 Maximum Mark : 100
b Sl Instructions :

1 FRET SaRere A gAY IR TN, 1. Fill in every information asked for.

2 |4 99T Q=T 2. Attempt all questions.

3 9% weErEel |iededr S 99 T 3. Write the answer with explanation in
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AT, 3. If you want to rewrite the solution of a
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Date: 17-
Total Marks: 100 Time: 3 hours

Brihanmumbai Ganit Adhyapak Mandal, Mumbai,
Ganit Adhyayan Adhyapan Vikasan Sanstha, Nashik, and
Pune Jilha Ganit Adhyapak Mandal, jointly with,
Jnana Prabodhini’s Educational Activity Research Centre, Pune

GANIT PRABHUTWA EXAMINATION (Level- 1)
12-2023 Std. VIII

N.B. Proper procedure and explanation necessary for Q. 2 to Q. 6

Q.1 A]

)

2)

3)

4)

S)

6)

7)

8)

9

Choose the correct alternative and write it against the
sub-question number.

Ifa:b=4:7,b:c=5:8,finda:c
A)5:14 B)4:5 C)7:8 D)1:2
Selling price of 4 articles is equal to cost price of 10 articles.

Find the profit percentage.

A) 60 % B) 25 % C)150%  D)40 %
0.2727 ...=

27 3 2727 2727
A) Too B ) Tooo ) To000

(10)

Find the compound interest on Rs. 8000 at the rate of 10 p.c.p.a. for 2 years.

A)Rs.8020 B)Rs.1180 C)Rs. 1680 D) Rs. 1600

Find the ratio of 2.5 liters to 1.5 deciliters

A)5:3 B)50:3 C)3:50 D)250:1
Multiply: (x + 5y) (5x — 7y)

A) 5x? —35y? B) 5x* - 12xy — 35y?

C) 5x2—12y? D) 5x%+ 18xy — 35 y?

Find the average of first 10 even numbers.

A) 10.1 B) 11 C) 22 D)5

The diagonal of a square is 16 cm. then its areais sq. cm
A) 842 B) 4 C)128 D)256

Opposite angles of a cyclic quadrilateral are (2x + 50 )° and (2 x — 30)°,
then x =?
A) 80° B) 180° C) 40° D) 45°

10) 80 % of a number is 64 % of 400, then what is the number?

A) 300 B) 640 C) 400 D) 320




Q.3

Q.1 B)

)

2)
3)

4)

5)

1y

2)

3)

4)
S)

)
2)

3)

4)

Write only answers of the following sub-questions. (10)

If the sides of a triangle are 13 cm, 13 cm and 10 cm, then what is the area
of that triangle?

Ifx —y =6, xy =4 then x* — y’=?
121 x 11%= (121)%-5, find x.

Find the smallest natural number by which 84672 should be multiplied so
that the product will be a perfect cube?

A and B together can do a work in 6 days. B alone can do the same work in
15 days. In how many days A alone can do the same work?

Solve the following sub-questions. (15)
A ABC~APQR,AB=10,BC=6, AC=5.6,PQ =75, find PR

Find the smallest number such that it is divisible by 3, 4, 5 and 7 but if it is
divided by 11, the remainder is 10.

In the adjoining figure,

v

Jed Xﬂl\ y + 10

line /| line m. Find x and y. ]

—— T S

Factorize: 4x%y — 108 y*+ 4xy — 12 y?
Find the square root of 152.2756 by division method.

Solve the following sub-questions. (15)
Solve: =+ 1 =l(3x+z)
2 2 3

The average cost of 15 books is Rs.60. Two books costing Rs. 40 and
Rs. 50 were replaced by two new books hence, the average cost was

reduced by Rs. 2. What was the average cost of two new books?
If a* + b* = 46, a> + b> = 8, find ab.
Side of a square ABCD is 28cm. A B

A circle is 1nscribed 1n it.
What is the area of the shaded portion? (7 = % )




Q. 4

Q.5

5)

1)

2)

3)

4

S)

D

2)

3)

4)

S)

Two trains simultaneously start towards each other from stations P and Q,
500 km apart and meet after 5 hours. If the difference between their speeds
1s 20 km/hr. Find their speeds.

Solve the following sub-questions. (20)
Find the compound interest of Rs. 20000 at the rate of 10 p.c.p.a.

for 1 % year. (Interest is calculated half yearly.)

Divide (x* — 6x*> + 11x — 6) by (x — 2)

Write the quotient and the remainder.

When a fruit vendor sold a dozen mangoes for Rs. 100, he suffered 20%
loss. How many mangoes should he sell for Rs. 100 to earn 20% profit?

In 36 liters of coffee, ratio of milk and water is 7 : 2. If 2 liters of water are
added to the coffee, what will be the ratio of milk and water in new coffee?

Points P, Q and R, are collinear and A

Q is the midpoint of seg PR.
Point A, non-collinear with P, Q, R is
such that, "

Q R
AP =AQ=QR. If PR =24 cm find AR.

Solve the following sub-questions. (20)
A D

o ABCD is a rectangle.

Prove that, seg AC = seg BD

B E
) ) 6x2%+7x-3
Slmphfy T 2x2421x427

A boy was asked to divide half of a certain number by 4 and other half by 6,
then to add the results. But he divided the number itself by 5.
His answer was 5 less than the correct answer. Find the number.

OABCD is a rhombus with diagonals 16 cm and 12 cm. A semicircle is

drawn on side BC. Find the area of the semicircle. (T = 3.14)

Expand: [2x - =+ 1] [ 2x += + 1]




Q.6

)

2)

Solve the following sub-questions. (10)

In an examination, if Atul gets 40 % of total marks, he fails by 20 marks.
In the same examination if Atul gets 55% of total marks, he gets 10 marks
more than the minimum passing marks. Find the maximum marks of the

examination and percentage of passing marks.

Construct a segment of V20 cm length, with the help of two different right

angled triangles.

363638
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1) 3fagq Ui,
y3—7y—6
1) Factorise :
Y-7y-6

2>Wmmmmmwa§wwmmmmmm

Wmmmsmmm > e TR I s
80 3, ﬂ??\??:n?ﬁm\‘im

2) In the adjacent ﬁgure the shaded region is common to a square and a circle. The area of

th
e shaded region is § th of the area of the circle and 5 of the area of the square. If the

area of the circle is 80, find the length of the side of the square.

3) (2019)"? a1 FRaT Fafd AST dF 3B R Prar.
3) Find the greatest three digit divisor of (2019)"2

Scanned by CamScanner



" x F AT AR RSTRT |
g S aRiellet I ¢ x 4l S T (¢
4) Wp,oqor AT

. , ) »
sl [t e 24
1) R, an et o e R
(1) x (24 1) IR,

: <'\1Fvﬂ mfd a’grf
e cof divisors of )‘xU'xr’is +-
ime numbers, then the number of divisors | I X+
4 It p. q. rare prime Sy

) A (}’ + ])
; er which has 24 divigore
i this property, find the smallest number wh sors,
X (= + 1), Using this property,

5) mwwmmmm 15 a9fT 1 Ty
YR R T ANIeR TehdTeedTaT foclt i aoue Bger?

5) At a certain rate of interest, compoundec.i annually,
15 years. Find the number of years in which the sam
compounded annually, will be 8§ times of it

Wéﬁ,mm

a sum of money gets doubleq in
€ sum at the same rate of intereg

6) Wﬁwﬁfﬁﬁmmwﬁmn%a,aa_

UWW%W@HWMW’
2) e T AR 223 aRver

6) Write 9 natural numbers in ascending order such that,
any two adj
all numbers is 223

1) The differences between

acent numbers in the order
2) The average of

are unequal,

Scanned by CamScanner



7) elTEl 9TOR | FREAT Wieltel ISEN0 sl

mmmﬁ?3ooom7mmaﬁwmmmmm o w m
Z 5000 1 9 Ve a1 &RrY g e A, A1 SRR T 24,000 T g,
W M Tt e @ den Qe ?

7) Solve without using a variable.

A merchant bought some boxes of apples at the rate of 3000 per 7 boxes. He sold all of
them to another merchant at the rate of ¥ 5000 per 9 boxes and earned a profit of T 24,000
in the deal. Find the number of boxes he had purChdSLd

S)WWﬁﬁalomssmwmmme.wm
EHRedlet W ST TR~ Fe SNiet .
1,3, 6,10, ey cery very vy oy S5,

8) Find the five numbers between 10 and 55 in the above sequence of numbers. Then find the
sum of reciprocals of all numbers in the sequence. 6

9) A 370 B, 400 Hicx wmauardt oRfd I @1 Wl UfeedT 9@ B 7 €A GRAd
PR 5 AP A 7 HTGUART Foard deit i oft arfet 15 fiex wwapr Riepeft. o=

ﬁﬁﬁwﬁww%ﬁwﬁrAﬁeﬁeﬁa7%ﬁéﬁWW
fSepelt, TR ITe graugrar 3 fadt g ?

9) In a running race of 400 metre, A gives B a start of 5 seconds and beats him by 15 metre.

In another race of 400 metre they started simultaneously and A beat B by 7l seconds.

Find their speeds of running.

Scanned by CamScanner



5 a g M oamm am,
10) CABCD § arrg am. [AB) = 2 IAD). &R AB &% 14g
AMD = ZCMD, @R AMD & 51T B .
" ¢ s bl 'j' AToEll o 7 T
(e oo ot @m0 G, @ e meidter arapet @t aufer
faal o, wqorensfen wa ast,)

10) DABCD s a rectangle. (AB) = 2 [(AD). Point M is on side AB such that
ZAMD = ZCMD. Find the measure of ZAMD. et
(Use the property-1f the measure of an angle of a right angled triangle is 30. then the

, R . p
length of side opposite to that angle is half the hypotenuse.)

D C

AM B

1) T e Ry @ Sor o @, @ o 7 e st s
mmmmmmmmzmwmmm?
3.6,8,8,.
11) In the abo\g sequence of digits the third and each of the succeeding

digits is the units
place digit of the product of two preceding digits. Find the 2019%

digit in the sequence.

T ——————— —— — -~ -

Rough Work /@ @

T ——— — ——
— _.—.—._—.-—-_——.—.—.—____——_-—-
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) AABC qed, I(AB) = 12, I(AC) = 5 3T mZA = 90. g5 BC R fig D ary SIYN
AABD 4 AACD Tt TRt T 81, TR AACD ¥ & Pra, '
AB) = 12, I(AC) = 5, mZA = 90. On side BC, point D is such thy th
AACD and AABD are equal. Find the area of AACD. s

¢

2) In AABC, I(
perimeters of

12

13) ) AT 2, & TR A RO A %) 3 &R P, T EHRTCAT GUE TR, HIReAl
@ TeF @ ad B efiT Tad IIvIARY oA e, aref e &M HeaTeR T Ter
QR G . . wmwwwaﬁaw@wmmﬁﬁaﬂmww
3o, GERT A P HEY T 0, AT Uy feaviereR @, Aefict B O &% et TR
gun feaeft, R T P T R feerel a1 quf o, ik Inic RICGIG
TR < fa g ?

13) M; and M are two meadows. The area of Mj is twice the area of Ma. On a day, a team of

rted to mow the grass in My. After half of the day, the team was divided into
M, and finished it at the end of the

1d not complete the work at the end

workers sta
two groups. One of the groups continued the work in

day. The second group started to work in Mz but cou
of the day. The next day, only one worker worked in Ma for the whole day and completed

the remaining work. How many workers were there in the team initially? 8

__.___.._._-_—_____._.._-_.

Rough Work /& &1
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14 -
) l:#*_pﬁ]awm

noopxn pxn

%ET. .’(‘ST@I)J%WWWQT@H-

14 3 :
) Use the result = —— +—p——l and express the

nopxn pxn
. itive integers.
different ways, where x and y are positive integ 9

I »
m}%am%+;mmﬁ?ﬁ?3‘mm

. 1. 1 .
fraction — in the form of —+lm three
10 Xy

15) e dUREIdier Tgt aTe T BIM ST T BT HISID Pial. Tral $eredT T
HHLT . \

15) Using only a marked ruler, draw ’an angle and its bisector. Justify your construction. 9

Rough Work/@ g T T T T T —m—————————————

-11-
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Pune Jilha Ganit Adhyapak Mandal, Brihanmumbai Ganit Adhyapak Mandal and
Ganit Adhyayan Adhyapan Vikasan Sanstha, Nashik

GANIT PRABHUTWA EXAMINATION

Date : 09-12-2018 Std - VIII Total Marks : 100
' Time : 12 noon to 3 pm

N.B. For Q. No. 2 to 5 proper procedure and explanation is necessary.

Q. 1 A) Choose the correct alternative answer in each of the following. 10
DH0R=" Ll
A) 0.1 B) 1 C) 0.001 D) 0.00001
2) Find the hypotenus of a right angled triangle having sides 20 and 21.
A) 29 B) 28 C)41 D) 25
3) Find the value of a> + b2 ifa+ b= 12 andab=10.
A) 124 B) 104 C) 164 D) 144
4) Which’member of the set {2.3.5,7,9, 11, 13} is not a prime number?
A) 2 B) 11 C)9 D)5
5) Which of the following is the product of 8,937 and 1257
A) 93700 B) 937000 C) 7496500 D) 4685000
6) Find x:y:Zzil 2x — 3y —4z.
A)6:4:3 B)2:3:4 Cya a8 )3 3i2:3

7) Find the difference between the simple interest and the compound
interest on < 1600 at the rate 5 p.c.p.a. for 2 years.

A)T 160 B)X 80 C)%4 D)%y
8) Find the middle term (geometric mean) of 0.25 and 400.
A) 10 B) 1 C) 100 D) 0.1

th
9) Mohanlal got a profit i of the cost price when he sold an article for

< 400. Find the profit percent.

A) 40 B) 10 C) 25 D) 20
10) Whole numbers m, n are such that m" = 121. Find the value of
e O ke
A) 1024 B) 10000 )l D) 1000

1 (P.T.0.)



B) Write only answer of each of the following subquestions. 10

1) The sides of a rectangle are 24 cm and 18 cm. Find the perimeter of the
square drawn on its diagonal.

2) Find the values of x and a, from
AAX the information given in the
' adjoing figure.

g/65 __ a\105
C

3) Rakhi completes a task in 10 days, while Rama takes 3 'days to finish the
same task. If they work together, in how many days will they finish the
task?

=

4) If 18> = 5832, then find the value of 3/5.832 x 5%

5) The bisectors of /B and ZC of AABC meet at incentre 1. mZA =
54°, find the measure of ZBIC. |

Q.2) Solve the following. 15

1) P , S [0 PQRS is a rhombus. mZMQR = 40°.
M Find the measures of : ZQSR, ZPQR,
ZQPS.

Q R

2) Exactly at what time between 2 and 3 will the hour hand overlap the
minute hand?

3) Find the average of the first 20 consecutive odd numbers.

4) By simple interest, a certain amount triples in 12 years at a certain rate
of interest. Find the rate of interest.

5) Construct a rectangle having diagonal 6.0 cm and the measure of an
angle beteen the diagonals 120°.

Q.3) Solve the following subquestions. - | 20

1) . g The points A, B, C, D, E, F lie
on a circle.

Find mZBAF + mZFED + m/DCB.



2) GCD of two numbers is 23 and their product is 19044. Find all possible
pairs of such numbers.

2
) X" —12x +27
3) Simpli
i x*—7x—18
4) Solve : S e e il R
2 SRR 6
5) In the adjoing figure, line £ || line m. /
m
From the information given in the figure A
find the measure of ZABC. 09
00
B C

Q.4) Solve the following subquestions.

1) Divide (x* + 4) by (x* + 2x + 2). Find quotient and remainder. Write
answer as

dividend = divisor x quotient + remainder

2) The speed of a boat in still water is 25 km/hr. The time required for the

] SEAVEST : ,
boat to travel 120 km against a steam is 5 times the time required to

travel the same distance along the same stream. Find the speed of the
stream.

3) Solve: ,[6° +§ = (0.6)>~ ¥

4) If a polygon has 90 diagonals, then find the number of sides of the
polygon.

Q.5) Solve the following subquestions :
1) Factorise : (x> + 8x) (x* + 8x + 5) — 14

2) Find x° — ia L S
X b. 4

20

25



3) In the adjoining figure, ZQPS = 90°, P
ZQPR = ZPSR, PR 1L QS,PS =y,
RS =x, PR = 12, PQ = 15. o
then - (1) Prove AQPS is similar to AQRP s

(ii) Find the values of x, v.

4) In the adjoining figure AABC and
APQR are congruent. All small
triangles are congruent, each side of
small triangle is 4 find the area of the
figure.

5) Some kg of tea at the rate ¥ 320 per kg is mixed with 5 kg of tea of the

rate of < 250 per kg. Now the rate of the mixture so formed is ¥ 300 per
kg. How much tea of the rate of I 320 per kg was taken?
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Use the blank space provided below each questions for rough work.

5. T g e I T e e ST T e 3l @l
TGS R THATR 1 T FHHAIHEE foTere.

_ . _ _ Y. HATH T
If you want to rewrite the solution of a question cancelling the
original, write it on the last blank page. !
2
3
Ul A=
TeTE I e A1 =
NiCEIE] 5
6
7
@, 4./ A, g
Full Name 9
Surname Name Middle Name 10
11
Name of School 19
13
Ph. No. / Mobile No. L
15
16
uiien S5 . TaereRTel TaTert 17
Seat Number Invigilators Signature 18
19
20
TRHT 70T / Total Marks




Q1 3@ ABCD 2 %1 fig O wed ¥qam. o DB = fig E o iR,  mZABE = 143°® 4
£DOC = 919 3.

Diagonals of a rectangle ABCD intersect at point O. On the ray DB, point E is such
that m ZABE = 1439, Find the measure of 2DOC.

Rough Work. /&= %m



Q2 SO =U. Add. 035 + 0.472 ' : | 4

Rough Work /&= =™




Q3 728, 7.2 & S 10.2 &5l sreom=Rn ST T FHR W e 900 318,
%Wﬁmwmqmwwm? :

The sides of a triangle are 7.2 cm, 7.2 cm and 10.2 cm. Without drawing the

figure, how will you convince your friend that measure of one of its angles is
nearly 900.

.——-—__.._____..—-__——_-_—_._.——__—___——____———--——.——-—_m__-__—.__m

Rough Work /&= %m



Q4 CJABCD @iy 37%F @ AB L 1@ BD. WX AB =8 &71fd1 AC = 34 & BD #wl. 5
[JABCD is a parallelogram. Find BD, if AB = 8, AC = 34 and seg AB . seg BD.

Rough Work /#=1 ™



Q.5 Prord T i T ade Fel. F HUTH 9 g G I1 ageT gaH ATHA Safiiad 5
.

Draw a circle of any convenient radius. Construct, with the help of compass and
ruler only, a regular octagon inscribed in the circle. '

__.___.._—_—_.——_—___—_._—..__———_———--———-.———_.———-—--——-—————-_.—

Rough Work /&= &M



Q.6  @i=al. Solve. 25+2% | 9% _ 9056 |

Rough Work /#=1 1



Q7 A ¥z 0 SR ageE W@ AE ¥ W 397 1@ AB #1i1 W@ BC & 5
Sffen SR,

W AD L W@ BC. TYRl(AB)=’1.2,l(BD)=6,l(CE)=8,'<T{
C gdwreh s @ |

= In the figure, seg AE is a diameter of a circle with center 0 and
& seg AB and seg BC are chords. seg AD L seg BC. IfI (AB)=12,
E

[ (BD) = 6, I (CE) = 8, find the radius of the circle.

Rough. Work /&= ™



Q8 TH GEA TRSTIHATAT THISATS Teh SIS ATHTIOAT YT Gehitehieft 1080 HTqTI 1 Femd, 0 =01
Srften et TSy amRa?

The lines containing alternate sides of a regular polygon intersect each other at an
angle of 108%. What is the number of sides of the polygon?

Rough Work /= =m

4



Q9 THFW I, & MM F IFH 8, 16‘mz4mwww.w%ﬁ3wmg@ 5
¥, T | A U1 Broe o feer@ & ATl 1 feaw ameft & %W |rgd e CER PR
33, 0 3 o Pl Ferar o e ?
A, B and C can complete a work in 8, 16 and 24 days respectively. They together
started the work. But Cleft the work 2 days before completion and B left the work 1

day before completion. So A alone completed it. Find the number of days required to
complete the work.

— — e — — — — —
.—_——_—-—-_—_——-—.—-.—-—_—-—_—_—_——-—-.—_—————-—.——_—_—.—-—_— o e



1 .
Q.10 R xZ-4x+1=0 @ x° +— =t i @,
X

1
Find the value of x5 + — if x2 - 4x+1=0
”

Rough Work /&= %1



Q.11 311471 x 435472 = 135636* 99312 I1 UNHRTIE XX AT SIH{T SHIVET 37 MR 7 6
Find the digit in place of ¥X in the product 311471 X 435472 = 135636* 99312

Rough Work /&= &m™



Q12 66556655 ...ooneoe- 5566 & T

1998 3 TEm IR, M e 1331 Y WRTEATER AU 6

66556655 ......... 5566 is a 1998 digit number. Find the quotient and remainder if the
number is divided by 1331. Find also the number of digits in the quotient.

——_—-————-—_.—-——_————_—

—_———_—_———-——-_—-—-—_—-——-_—-—.———————_____._



Q.13 86037 a1 T TH H ihl TE WIS FewT AT SR ITIA 312, 383 F 1 BT, T 9
TSI 3T WA <hIvTd B, § Shiel.

When 86037 was divided by a three digit number, the successive remainders were
312, 383 and 1 respectively. What was the divisor and the quotient?

Rough. Work /&=t &M



Q14 = 18 S e T e I TR, @ i, 5 6 A onfn w3 def wwp@ @ 7
STt st ferdt o Tresfaran It ? _ '

The side of a wooden cube is 18 cm. If some cubes of side 5 cm and some cubes of side
3 cm are to be obtained by cutting the cube, what would be the maximum number of
cubes?

Rough Work /&= wE



Q.15 I S0 1oowmmmmwm,méﬂqwmsﬁm.mw 9
e,

Find the largest possible product of three prime numbers whose sum is 100.

Rough Work /&= &m



fodrea s, AABC =41 9 10, 10 3A1fir 16 371 fig B,
C, R; fig C, A, P anifin fig A, B, Q Tt 3Ted. T
i sa mRd e wu S APQR = &% Fal.
In the figure, sides of AABC are 10, 10 and 16. Points B,

C, R; points C, A, P and points A, B, Q are collinear.
Observe additional information shown in the figure and

find the area of APQR.

Rough Work /&= %™



Q.17 M A D e qoTHERe STe S SeR G S st 8
X B E mmmmm.mamwwmsﬁa@
M A D 3 s o,
R A E —__ Inthe given multiplication sum, the same letters are used
A M 1 D  for the same digits and different letters for different digits.

Find the digits in places of letters and write the sum.

Rough Work /&= =™



